
Minimum input voltage:               𝑉𝑖𝑛_𝑚𝑖𝑛 = 11.4 𝑉 

Maximum output voltage:           𝑉𝑜𝑢𝑡_𝑚𝑎𝑥 = 25 𝑉 

Inductor value:                            L = 47 × 10−6 H 

Switching frequency:                  𝐹𝑠𝑤 = 500 𝑘𝐻𝑧 

Diode forward voltage:               𝑉𝑑 = 0.6 𝑉 

Minimum current limit:              𝐼𝑠𝑤_𝑚𝑖𝑛 = 0.56𝐴  

Efficiency:                                  η = 0.85 

 

 

Inductor peak to peak current ripple: 

𝐼𝐿𝑅 =
1

[𝐿 × 𝐹𝑠𝑤 × (
1

𝑉𝑜𝑢𝑡_𝑚𝑎𝑥 + 𝑉𝑑 − 𝑉𝑖𝑛_𝑚𝑖𝑛
+

1
𝑉𝑖𝑛_𝑚𝑖𝑛

)]
= 0.269𝐴 

Maximum output current: 

𝐼𝑜𝑢𝑡_𝑚𝑎𝑥 = 𝑉𝑖𝑛_𝑚𝑖𝑛 × (𝐼𝑠𝑤_𝑚𝑖𝑛 −
𝐼𝐿𝑅

2
) ×

𝜂

𝑉𝑜𝑢𝑡_𝑚𝑎𝑥
= 0.165𝐴 


